1	Pack and wrap station, stainless steel, with 4" swivel casters with brakes, full length lower shelf, sterile wrap
	frame (56"W x 30 1/2"H), 3 tote box drawers, 5" or 10" deep, Pedigo model #CDS-3260 or approved equal.

Supplier	QTY	UOM	<b>Unit Price</b>	Extended Supplier Notes / Alternate Description
<b>Electronic Process Solutions</b>	1	EA	\$2,400.54	\$2,400.54
Products Unlimited, INc	1	EA	\$2,830.25	\$2,830.25 Pedigo #CDS-3260
Medical Inventory Control	1	EA	\$2,995.00	\$2,995.00 Price Includes ShippingEquipment is NEW
[ALT1] STERIS Corporation	1	EA	\$4,032.00	\$4,032.00 Work Table 36 x 72 Base Positionable @
				\$2965with (3 ea) task drawer @ \$242 ea,
				and (1)lower shelf @ \$341 Please see
				attached Quote NFORDE813721 and
				brochure / technical data

2	Table, Prep, stainless steel, with shelf, 1 drawer 15 1/4"W x 12 1/2"D x 3"H, and attached 3-sided 1 1/2"H rail,										
	Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description					
	Electronic Process Solutions	2	EA	\$435.68	\$871.36						
	Products Unlimited, INc	2	EA	\$467.56	\$935.12	REFURBISHED					
	Medical Inventory Control	2	EA	\$580.00	\$1,160.00	Price Includes ShippingEquipment is NEW					
	[ALT1] STERIS Corporation	2	EA	\$1,248.60	\$2,497.20	Mobile Cart 24x24 w/ 66" mobile frame and					
						24x24 surface, 3(ea) multi-function shelves,					
						15a electric plug strip, and lower shelf					

# 3 Ultrasonic cleaner, benchtop, Crest Ultrasonics model CP 2600 or approved equal. Configuration - HT; 0-30 minute timer & thermostatically controlled heat to 80 degrees C.

Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
<b>Electronic Process Solutions</b>	1	EA	No Bid		
Products Unlimited, INc	1	EA	\$1,682.20	\$1,682.20	NEW
Medical Inventory Control	1	EA	\$2,185.00	\$2,185.00	Price Includes Lid & BasketPrice Includes
					ShippingEquipment is NEW
[ALT1] STERIS Corporation	1	EA	\$3,270.00	\$3,270.00	Reliance CRT5A Table Top Ultrasonic Unit 2/
					basket for 5.75 gal @ \$3250includes Drain
					Hose Assembly @ \$20Please see attached
					Quote NFORDE813721 and brochure /
					technical data
<b>5</b>	•••••	•••••	• • • • • • • • • • • • • • • • • • • •	•••••	

Linen hampers, stainless steel, round, with bottom shelf, Blickman model 7774SS or approved equal.											
Supplier	pplier QTY		<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description						
STERIS Corporation	2	EA	No Bid								
<b>Electronic Process Solutions</b>	2	EA	\$195.38	\$390.76	5						
[ALT1] Medical Inventory	2	EA	\$265.00	\$530.00	) MAC Medical LH-2000, Overall size: 35"H x						
Control					18" diameter, Accommodates 18" diameter						
					bags						
Products Unlimited. INc	2	EΑ	\$297.73	\$595.46	<u> </u>						

Operating room cabinet, 5-she			-		
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
Products Unlimited, INc	2	EA	No Bid		
STERIS Corporation	2	EA	No Bid		
[ALT1] Medical Inventory	2	EA	\$3,045.00	\$6,090.00	SS Flat Top Cabinet, 2 side panels, 3" high
Control					base. Overall size 48" wide, 83" high, 18"
					deep
[ALT1] Products Unlimited, INc	2	EA	\$3,882.62	\$7,765.24	LARGE STORAGE AND SUPPLY CABINET,
					STAINLESS STEEL, FLAT TOP, GLASS DOORS,
					LOCKING, 5 REMOVABLE SS SHELVES, 3
					YEAR LIMITED WARRANTY 35.875"W X
					76.75"H X 16"D
Electronic Process Solutions	2	EA	\$4,850.27	\$9,700.54	
Anesthesia cart, blue, key lock	, Inter	Metro I	Basix Plus Car	model MBP	3210TL MB-DB or approved equal.
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
STERIS Corporation	1	EA	No Bid		
[ALT1] Medical Inventory	1	EA	\$1,095.00	\$1,095.00	6 Drawer, Two-Tone or Solid Color, Key Lock
Control					Mobile Workstation, Drawer Configuration
					3-3" 2-6" 1-9", 46-1/4"H x 25"D x 32"W
Electronic Process Solutions	1	EA	\$1,241.46	\$1,241.46	
Products Unlimited, INc	1	EA	\$2,399.92	\$2,399.92	
					equal. Fluid compartment dimensions: 26
Supplier	•	UOM	Unit Price	Extended	Supplier Notes / Alternate Description
Products Unlimited, INc	1	EA	No Bid		
[ALT1] STERIS Corporation	1	EA	\$6,715.00	\$6,715.00	Offering Warming Cabinet Dual
					Compartment 18" @ \$5,953.46; install @
					\$761.54Please see attached Quotation
					MWETSSTO913162 and attached technical
					MWETSSTO913162 and attached technical data
[ALT1] Medical Inventory	1	EA	\$6,850.00	\$6,850.00	data
[ALT1] Medical Inventory Control	1	EA	\$6,850.00	\$6,850.00	data
	1	EA	\$6,850.00	\$6,850.00	data 30"W x 26.5"D x 74.5"T, 17.59 cubic feet of
	1	EA	\$6,850.00	\$6,850.00	data 30"W x 26.5"D x 74.5"T, 17.59 cubic feet of storage, 4 adjustable shelves; Upper Chamber 26"W x 23"D x 25"T, 8.63 cubic
	1	EA	\$6,850.00	\$6,850.00	data 30"W x 26.5"D x 74.5"T, 17.59 cubic feet of storage, 4 adjustable shelves; Upper Chamber 26"W x 23"D x 25"T, 8.63 cubic
	1	EA	\$6,850.00	\$6,850.00	data 30"W x 26.5"D x 74.5"T, 17.59 cubic feet of storage, 4 adjustable shelves; Upper Chamber 26"W x 23"D x 25"T, 8.63 cubic feet of storage; Lower Chamber I.D. 26"W x
i '	1	EA EA	\$6,850.00 \$7,460.59	\$6,850.00 \$7,460.59	data 30"W x 26.5"D x 74.5"T, 17.59 cubic feet of storage, 4 adjustable shelves; Upper Chamber 26"W x 23"D x 25"T, 8.63 cubic feet of storage; Lower Chamber I.D. 26"W x 23"D x 26"T8.96 cubic feet of storage
Control  Electronic Process Solutions  Table, (back), stainless steel, o	1	EA	\$7,460.59	\$7,460.59	data 30"W x 26.5"D x 74.5"T, 17.59 cubic feet of storage, 4 adjustable shelves; Upper Chamber 26"W x 23"D x 25"T, 8.63 cubic feet of storage; Lower Chamber I.D. 26"W x 23"D x 26"T8.96 cubic feet of storage Temperature range: 90-160 F
Control  Electronic Process Solutions	1 n 4" s	EA	\$7,460.59	\$7,460.59	data 30"W x 26.5"D x 74.5"T, 17.59 cubic feet of storage, 4 adjustable shelves; Upper Chamber 26"W x 23"D x 25"T, 8.63 cubic feet of storage; Lower Chamber I.D. 26"W x 23"D x 26"T8.96 cubic feet of storage Temperature range: 90-160 F
Control  Electronic Process Solutions  Table, (back), stainless steel, o	1 n 4" s	EA wivel ca	\$7,460.59 asters with bra	\$7,460.59 akes, full leng	data 30"W x 26.5"D x 74.5"T, 17.59 cubic feet of storage, 4 adjustable shelves; Upper Chamber 26"W x 23"D x 25"T, 8.63 cubic feet of storage; Lower Chamber I.D. 26"W x 23"D x 26"T8.96 cubic feet of storage Temperature range: 90-160 F  th lower shelf, Pedigo SG-94-SS or

[ALT1] Products Unlimited, INc	2	EA	\$931.92	\$1,863.84	INSTRUMENT TABLE, STAINLESS STEEL
					SWIVEL, LOCKING CASTERS, 34" H X 60"W
					24"D, ONE SHELF, 3 YEAR LIMITED
					WARRANTY OPEN SIDES
[ALT1] Medical Inventory	2	EA	\$950.00	\$1,900.00	SS Instrument Table, 24x60x34 w/Shelf &
Control					Casters
Single basin stand with shelf, 1	. remo	vable 1	3 1/4" diame	ter, 7 quart s	tainless steel basin, Pedigo P-1078-W/S-SS
Supplier		UOM			Supplier Notes / Alternate Description
STERIS Corporation	2	EA	No Bid		
<b>Electronic Process Solutions</b>	2	EA	\$265.14	\$530.28	
[ALT1] Medical Inventory	2	EA	\$335.00	\$670.00	Overall size: 14"D x 14"W x 34"HRemovabl
Control					7 quart stainless steel basinSS lower shelf
Design to the Profit of the Indian			Ć242.24		
Products Unlimited, INc	2	EA	\$343.31	\$686.62	
Double step stool, chrome, 1st	step 9	9"H, 2n	d step 16 1/4'	_	
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description
STERIS Corporation	3	EA	No Bid		
[ALT1] Products Unlimited, INc	3	EA	\$149.66	\$448.98	2 STEP STOOL SKID RESISTANT, 9" AND 16"
				4	STEPS, 600LB CAPACITY
Electronic Process Solutions	3	EA	\$192.16	\$576.48	
Medical Inventory Control	3	EA	\$275.00	\$825.00	Price Includes ShippingEquipment is NEW
Kick bucket, stainless steel, wit	th rem	ovable	12 quart stair	nless steel bu	cket, Pedigo P-1020-SS or approved equal.
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
STERIS Corporation	4	EA	No Bid		
[ALT1] Products Unlimited, INc	4	EA	\$131.47	\$525.88	KICK BUCKET, 13QT, STAINLESS STEEL, 360
					DEGREE BUMPER ON FRAME, HEAVY DUTY
Electronic Process Solutions	4	EA	\$153.78	\$615.12	
[ALT1] Medical Inventory	4	EA	\$195.00	\$780.00	Overall size: 14"H x 13 1/2"
Control					diameterRemovable 12 quart SS basin
~				L	
Caral with hard manageria ha	:-l-4 -	al:a4.aa			
• •	_	•	=		•
• •	able b	•	=	eter aluminu	im base, Pedigo model P-521-GS or Supplier Notes / Alternate Description
padded seat with back, adjusta	able b	ackrest,	23 1/2" diam	eter aluminu	ım base, Pedigo model P-521-GS or
padded seat with back, adjusta	QTY 2	uOM	23 1/2" diam Unit Price	eter aluminu Extended	ım base, Pedigo model P-521-GS or
padded seat with back, adjusta Supplier STERIS Corporation	oble back QTY	uom EA	23 1/2" diam Unit Price No Bid	eter aluminu Extended	ım base, Pedigo model P-521-GS or Supplier Notes / Alternate Description
Supplier STERIS Corporation	oble back QTY	UOM EA	23 1/2" diam Unit Price No Bid	Extended \$431.32	Im base, Pedigo model P-521-GS or Supplier Notes / Alternate Description  EXAM STOOL, WITH BACK, PNEUMATIC, 5

EA

Medical Inventory Control

\$395.00

\$790.00 Price Includes ShippingEquipment is NEW

#### 13 Stool, 14 1/2" round fully padded seat, 23 1/2" diameter aluminum base, 2" dual wheel casters, pneumatic height adjustment of 19 1/4" to 23 3/4", Pedigo #P-526-GS or approved equal

Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
STERIS Corporation	2	EA	No Bid		
[ALT1] Products Unlimited, INc	2	EA	\$148.38	\$296.76	EXAM STOOL, PNEUMATIC, 5 CASTERS, 17-
					22" HT ADJ, 15" SEAT, 5 LEG
Electronic Process Solutions	2	EA	\$189.73	\$379.46	
Medical Inventory Control	2	EA	\$295.00	\$590.00	Price Includes ShippingEquipment is NEW

#### 14 Crash Cart, 6-drawer, tall, Waterloo UTRLU-433369-RED or approved equal.

order carry carry rank reactions of the control of approved equals									
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description				
STERIS Corporation	2	EA	No Bid						
<b>Electronic Process Solutions</b>	2	EA	\$894.49	\$1,788.98					
Products Unlimited, INc	2	EA	\$1,034.88	\$2,069.76	5				
[ALT1] Medical Inventory	2	EA	\$1,075.00	\$2,150.00	6 Drawer Emergency Cart, Drawer config. 4-				
Control					3"1-6"1-12", 46-1/4"H x 25"D x 32"W				

## Case Cart, Closed, stainless steel, with solid shelves, 2 each 10" tote box drawers and tote box hangers, and brake lock, Pedigo model CDS-233 or approved equal.

Supplier	QTY	UOM	<b>Unit Price</b>	Extended Supplier Notes / Alternate Description
Electronic Process Solutions	1	EA	\$1,978.65	\$1,978.65
Products Unlimited, INc	1	EA	\$2,284.21	\$2,284.21
[ALT1] Medical Inventory	1	EA	\$2,940.00	\$2,940.00 SS Closed Case Cart, 31.75W x 28.375D X
Control				56.375H, Includes 2 Solid Shelves
[ALT1] STERIS Corporation	1	EA	\$5,000.00	\$5,000.00 28.5 x 34.5 x 54 SS Closed Cart CasePlease
				see attached Quote NFORDE813721 and
				brochure / technical data

#### 16 Case Cart, Open, adjustable stainless steel center shelf, wrap around bumper, 5" diameter swivel plate casters, Pedigo #CDS-153 or approved equal.

Supplier	QTY	UOM	<b>Unit Price</b>	Extended Supplier Notes / Alternate Description
Products Unlimited, INc	2	EA	\$1,262.94	\$2,525.88
Electronic Process Solutions	2	EA	\$1,290.00	\$2,580.00
[ALT1] Medical Inventory	2	EA	\$1,705.00	\$3,410.00 SS Open Case Cart, 40.375"L X 26.563"W X
Control				36.75"H, Includes Adjustable Solid Shelf
[ALT1] STERIS Corporation	2	EA	\$4,170.00	\$8,340.00 28.5 x 34.5 x 54 SS Closed Cart Case @
				\$4000 eawith SS wire adjustable shelf @
				\$170 eaPlease see attached Quote
				NFORDE813721 and brochure / technical
				data

## Anesthesia Machine - "MOCK", Drager Narkomed, 2 vaporizer system or approved equal. This anesthesia machine is to be an example of what students will find in a surgical setting and can be non-functioning, but should

Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes
<b>Electronic Process Solutions</b>	1	EA	No Bid		
Products Unlimited, INc	1	EA	No Bid		

STERIS Corporation	1	EA	No Bid		
Medical Inventory Control	1	EA	\$4,250.00	\$4,250.00	Price Includes ShippingEquipment is MOCK
					Cosmetically Restored/Non-
					FunctionalNarkomed GS or Similar Model
			-	-	or approved equal, to include camera
					en monitor & medical grade cart.
Supplier	•	UOM	Unit Price	Extended	Supplier Notes
STERIS Corporation	1	EA	No Bid		
Electronic Process Solutions	1	EA	No Bid		
Medical Inventory Control	1	EA	\$10,550.00	\$10,550.00	Price Includes ShippingEquipment is
					Refurbished with One Year Warranty
Products Unlimited, INc	1	EA	\$14,897.00	\$14,897.00	REFURBISHED, 1 YEAR PARTS AND LABOR -
19 Monitor, vital signs, Biolight M	lodel I	M8000	or approved e	qual.	
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
<b>Electronic Process Solutions</b>	1	EA	No Bid		
STERIS Corporation	1	EA	No Bid		
Medical Inventory Control	1	EA	\$2,450.00	\$2,450.00	Pricing Includes ShippingEquipment is NEV
[ALT1] Products Unlimited, INc		EA	\$2,936.20		NIHON KOHDEN PATIENT MONITOR, REFURBISHED, INVASIVE & NIBP, SPO2, 3 LEAD ECG, LEAD SELECTABLE RESPIRATION TEMPERATURE, DISPLAYS UP TO 6 WAVEFOREMS, THERMAL ARRAY RECORDER, NAVIGATOR CONTROL KNOW, AC OR BATTERY POWER, INCLUDES: ECG LEAD WIRES, 3 LEAD, CLIP STYLE, SOO2 CABLE AND REUSABLE SENSOR, STANDARI ADULT NIBP CUFF & HOSES, LEAD ACID PASSPORT BATTERY
			-		s, Valleylab Force 2 or approved equal,
Supplier	•	UOM	Unit Price	Extended	Supplier Notes
STERIS Corporation	1	EA	No Bid		
Electronic Process Solutions	1	EA	No Bid		
Medical Inventory Control	1	EA	\$2,450.00	\$2,450.00	Price Includes ShippingEquipment is
					Refurbished with One Year Warranty
Products Unlimited, INc	1	EA	\$3,674.60	\$3,674.60	1YEAR WARRANTY
1 Electrosurgical unit, with cart a	and bi	polar aı	nd monopolar	footswitches	, "MOCK" (non-functional), Valleylab Forc
2 or approved equal. This unit		•	•		•
Supplier		UOM	Unit Price	Extended	Supplier Notes
STERIS Corporation	1	EA	No Bid		
Electronic Process Solutions		EA	No Bid		
Electronic Process Solutions	1	EA	INU DIU		

\$1,037.00

EΑ

1

Products Unlimited, INc

\$1,037.00 NON-FUNCTIONAL, NO WARRANTY

Medical Inventory Control 1 EA \$1,650.00 \$1,650.00 Price Includes ShippingEquipment is MOCK - Cosmetically Restored/Non-Functional

Washer/Disinfector, MOCK - NDS610/2 or approved equal, p					loors should be operable, SteelCo Model
 Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description
Products Unlimited, INc	1	EA	No Bid		

Supplier	QTY	UOM	<b>Unit Price</b>	Extended Supplier Notes / Alternate Description
Products Unlimited, INc	1	EA	No Bid	
<b>Electronic Process Solutions</b>	1	EA	No Bid	
Medical Inventory Control	1	EA	\$9,250.00	\$9,250.00 Price Includes ShippingEquipment is MOCK -
				Cosmetically Restored/Non-FunctionalVERY
				LIMITED AVAILABILITY OF WASHERS WITH
				DIMENSIONS REQUESTEDNOTE: Reliance
				444 is Larger but would have lower price
[ALT1] STERIS Corporation	1	EA	\$13,588.50	\$13,588.50 Reliance 444 Washer @ \$12,088.50with
				Billable Specialty Labor @ \$1,500Please see
				attached Quote NFORDE813721 and
				hrochura / tachnical data

#### 23 Sterilizer, Flash, MOCK - not all utilities will be connected, Amsco 3013 Vacamatic, 16" X 16" X 26", 74.5" H or approved equal. Unit is to have a Stage 2 (or greater) Control Unit. Unit is to be cosmetically restored.

Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes
<b>Electronic Process Solutions</b>	1	EA	No Bid		
Products Unlimited, INc	1	EA	\$2,709.00	\$2,709.00	NON-FUNCTIONAL, NO WARRANTY
Medical Inventory Control	1	EA	\$6,595.00	\$6,595.00	Price Includes ShippingEquipment is MOCK -
					Cosmetically Restored/Non-Functional
STERIS Corporation	1	EA	\$15,056.88	\$15,056.88	16x16x26 PreVac Sterilizer with Stage 3
					Controls (AMSCO 3013 Series) RH Hinge 208-
					240V @ \$14,041.50Special Billable Labor @
					\$1,015.38Please see attached Quote
					NFORDE813721 and brochure / technical
					data

## 24 Sterilizer, MOCK - not all utilities will be connected, Amsco 3011 gravity sterilizer, 16" X 16" X 26", 74.5"H or approved equal. Unit to have a Stage 2 (or greater) control unit. Unit to be cosmetically restored.

Supplier	QTY	UOM	<b>Unit Price</b>	Extended Supplier Notes
<b>Electronic Process Solutions</b>	1	EA	No Bid	
Products Unlimited, INc	1	EA	\$2,709.00	\$2,709.00 NON-FUNCTIONAL NO WARRANTY
Medical Inventory Control	1	EA	\$6,595.00	\$6,595.00 Price Includes ShippingEquipment is MOCK - Cosmetically Restored/Non-Functional
STERIS Corporation	1	EA	\$14,987.88	\$14,987.88 16" ReManufactured Gravity Sterilizer RH 208V @ \$13,972.50Special Billable Labor @ \$1,015.38Please see attached Quote NFORDE813721 and brochure / technical data

•					e shelves, with 12 retainers and 12 plastic
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
STERIS Corporation	1	EA	No Bid		
Electronic Process Solutions	1	EA	\$492.54	\$492.54	
[ALT1] Medical Inventory	1	EA	\$750.00	\$750.00	Slanted Suture Cart (4 Slant Shelves & 1 Fl
Control					Shelf), No Retainers or Markers, 48W x 24
					x 63H; Note: Bottom Shelf is Flat NOT
					Slanted for Better Cart Stability
Products Unlimited, INc	1	EA	\$952.14	\$952.14	
Sponge receptacle, stainless s	steel, re	movab	le 8 1/2 quart	stainless ste	el basin, Pedigo #P-1025-SS or approved
Supplier		UOM	Unit Price		Supplier Notes / Alternate Description
STERIS Corporation	1	EA	No Bid		
Electronic Process Solutions	1	EA	\$203.24	\$203.24	
[ALT1] Medical Inventory	1	EA	\$240.00		Overall size: 8"H x 16 1/4"
Control	1	LA	72 <del>4</del> 0.00	7240.00	diameterRemovable 8 1/2 quart stainless
Control					•
					steel basin
Products Unlimited, INc	1	EA	\$249.81	\$249.81	
General Surgical Table with p	ads, ref	furbishe	ed, with warra	nty, Amsco 3	080 or approved equal.
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes
<b>Electronic Process Solutions</b>	2	EA	No Bid		
Products Unlimited, INc	2	EA	\$9,810.20	\$19,620.40	1 YEAR WARRNATY
Medical Inventory Control	2	EA	\$10,995.00	\$21,990.00	Price Includes ShippingEquipment is
					Refurbished with ONE YEAR WarrantyPrice
					Includes NEW Pad SetPrice Includes (2) Ar
					Boards & Restraint Strap
STERIS Corporation	2	EA	\$17,946.12	\$35 892 24	STERIS 3080-R Reman Surgical Table,
37EM3 Corporation	_		φ17,5 10.1 <b>2</b>	ψ33,032.2 T	RC3Please see attached Quotation
					MWHETSTO813162 and Technical Data
					WWNE1310613102 and Technical Data
General Surgical Table with p					
Supplier	•	UOM	Unit Price	Extended	Supplier Notes / Alternate Description
Electronic Process Solutions	2	EA	No Bid		
Products Unlimited, INc	2	EA	\$9,243.00	\$18,486.00	1 YEAR WARRANTY
Medical Inventory Control	2	EA	\$10,995.00	\$21,990.00	Price Includes ShippingEquipment is
					Refurbished with ONE YEAR WarrantyPric
					Includes NEW Pad SetPrice Includes (2) Ar
					Boards & Restraint Strap
[ALT1] STERIS Corporation	2	EA	\$32,871.18	\$65,742.36	Offering STERIS AMSCO 5085 SRT (Slide,
	-		,,	,	Rotate, Transport) General Surgical Table
					\$32,301.44 eawith Aquagel Arm Protecto
					• =
					pad @ \$209.62 ea and Flat bottom chest
					roll pad @ \$360.12 eaPlease see attached
					Quotation MWHETSTO813162 and
					Technical Data

<u> </u>	,	10000	r approved eq	<del>uu</del>	
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes
STERIS Corporation	3	EA	No Bid		
Medical Inventory Control	3	EA	\$1,750.00	\$5,250.00	Price Includes ShippingEquipment is
					Refurbished with One Year WarrantyPrice
					Includes NEW Pad Set
Products Unlimited, INc	3	EA	\$1,921.72	\$5,765.16	1 YEAR WARRANTY REFURBISHED
Electronic Process Solutions	3	EA	\$4,432.43	\$13,297.29	
Stretcher, EMS, battery power	ed, Stı	ryker Po	ower-PRO XT s	stretcher or a	pproved equal.
Supplier		UOM	Unit Price		Supplier Notes
STERIS Corporation	1	EA	No Bid		
Electronic Process Solutions	1	EA	No Bid		
Medical Inventory Control	1	EA	No Bid		
Products Unlimited, INc	1	EA	\$9,906.00	\$9,906.00	1 YEAR WARRANTY, REFURBISHED
·			, ,	, ,	·
IV Stands, hand operated, 4-le	_		_		
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
STERIS Corporation	2	EA	No Bid		
Electronic Process Solutions	2	EA	\$105.10	\$210.20	
[ALT1] Products Unlimited, INc	2	EA	\$167.95	\$335.90	IV stand, stainless sttel, 4 leg, 4 detachabl
					hooks
Medical Inventory Control	2	EA	\$250.00	\$500.00	Price Includes ShippingEquipment is NEW
Carear inventory Control	_		\$250.00	Ş300.00	Frice includes shippingEquipment is NEW
X-Ray Illuminator, 2 bank, surf					
,	ace m				
X-Ray Illuminator, 2 bank, surf	ace m	ount, A	merican Medi	cal Sales 102	D or approved equal.
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions	ace m	ount, A UOM EA	merican Medi Unit Price	cal Sales 102	D or approved equal.
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions	ace m QTY 2	ount, A UOM EA	merican Medi Unit Price No Bid	cal Sales 102 Extended	D or approved equal. Supplier Notes / Alternate Description
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation	ace modern QTY 2 2	ount, A UOM EA EA	merican Medi Unit Price No Bid No Bid	cal Sales 102 Extended	D or approved equal.
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory	ace modern QTY 2 2	ount, A UOM EA EA	merican Medi Unit Price No Bid No Bid	cal Sales 102 Extended \$750.00	D or approved equal. Supplier Notes / Alternate Description
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc	QTY 2 2 2	ount, A UOM EA EA EA	merican Medi Unit Price No Bid No Bid \$375.00	cal Sales 102 Extended \$750.00 \$1,275.40	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc	QTY 2 2 2	ount, A UOM EA EA EA EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70	cal Sales 102 Extended \$750.00 \$1,275.40	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc Incubator, 3M Attest 290 Auto Supplier	QTY 2 2 2 -Read QTY	ount, A UOM EA EA EA EA UOM	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  pproved equal Unit Price	cal Sales 102 Extended \$750.00 \$1,275.40	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc Incubator, 3M Attest 290 Auto Supplier STERIS Corporation	QTY 2 2 2 -Read QTY 1	ount, A UOM EA EA EA UOM EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid	cal Sales 102 Extended \$750.00 \$1,275.40	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc Incubator, 3M Attest 290 Auto Supplier STERIS Corporation Electronic Process Solutions	QTY 2 2 2 -Read QTY 1	ount, A UOM EA EA EA UOM EA Er or ap UOM EA EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid No Bid	\$750.00 \$1,275.40 Extended	D or approved equal. Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT  Supplier Notes
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc Incubator, 3M Attest 290 Auto Supplier STERIS Corporation	QTY 2 2 2 -Read QTY 1	ount, A UOM EA EA EA UOM EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid	\$750.00 \$1,275.40 Extended	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT  Supplier Notes  Price Includes ShippingEquipment is
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc  Incubator, 3M Attest 290 Auto Supplier STERIS Corporation Electronic Process Solutions Medical Inventory Control	QTY 2 2 2 -Read QTY 1 1	ount, A UOM EA EA EA UOM EA EA EA EA EA EA EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid No Bid \$575.00	\$750.00 \$1,275.40 \$575.00	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT  Supplier Notes  Price Includes ShippingEquipment is Refurbished with 6 Month Warranty
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc Incubator, 3M Attest 290 Auto Supplier STERIS Corporation Electronic Process Solutions	QTY 2 2 2 -Read QTY 1	ount, A UOM EA EA EA UOM EA Er or ap UOM EA EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid No Bid	\$750.00 \$1,275.40 \$575.00	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT  Supplier Notes  Price Includes ShippingEquipment is
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc  Incubator, 3M Attest 290 Auto Supplier STERIS Corporation Electronic Process Solutions Medical Inventory Control	ace model QTY 2 2 2 2 2 2 2Read QTY 1 1 1 1 1	ount, A UOM EA EA EA UOM EA EA EA EA EA EA EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid No Bid \$575.00 \$1,074.60	\$750.00 \$1,275.40 \$575.00	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT  Supplier Notes  Price Includes ShippingEquipment is Refurbished with 6 Month Warranty
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc  Incubator, 3M Attest 290 Auto Supplier STERIS Corporation Electronic Process Solutions Medical Inventory Control  Products Unlimited, INc	2 2 2 -Read QTY 1 1 1	ount, A UOM EA EA EA UOM EA EA EA EA EA EA EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid No Bid \$575.00 \$1,074.60	\$750.00 \$1,275.40 \$575.00	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT  Supplier Notes  Price Includes ShippingEquipment is Refurbished with 6 Month Warranty
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc  Incubator, 3M Attest 290 Auto Supplier STERIS Corporation Electronic Process Solutions Medical Inventory Control  Products Unlimited, INc  Leg positioner, lateral, Allen A-	2 2 2 -Read QTY 1 1 1	er or ap EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid No Bid \$575.00 \$1,074.60	\$750.00 \$1,275.40 \$575.00 \$1,074.60	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT  Supplier Notes  Price Includes ShippingEquipment is Refurbished with 6 Month Warranty REFURBISHED, 1 YEAR WARRANTY
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc  Incubator, 3M Attest 290 Auto Supplier STERIS Corporation Electronic Process Solutions Medical Inventory Control  Products Unlimited, INc  Leg positioner, lateral, Allen A-Supplier	2 2 2Read QTY 1 1 1 1 -10042 QTY	er or ar UOM EA EA EA EA OM EA EA EA EA EA EA EA EA EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid No Bid \$575.00 \$1,074.60  proved equal Unit Price	\$750.00 \$1,275.40 \$575.00 \$1,074.60	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT  Supplier Notes  Price Includes ShippingEquipment is Refurbished with 6 Month Warranty REFURBISHED, 1 YEAR WARRANTY
X-Ray Illuminator, 2 bank, surf Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc  Incubator, 3M Attest 290 Auto Supplier STERIS Corporation Electronic Process Solutions Medical Inventory Control  Products Unlimited, INc  Leg positioner, lateral, Allen A-Supplier STERIS Corporation	2 2 2 -Read QTY 1 1 1 -10042 QTY 1	er or ap EA EA EA EA OM EA	merican Medi Unit Price No Bid No Bid \$375.00 \$637.70  proved equal Unit Price No Bid No Bid \$575.00 \$1,074.60  proved equal Unit Price No Bid	\$750.00 \$1,275.40 \$575.00 \$1,074.60	D or approved equal.  Supplier Notes / Alternate Description  Dual Bank X-Ray Viewer, Carr Corp  NEW EQUIPMENT  Supplier Notes  Price Includes ShippingEquipment is Refurbished with 6 Month Warranty REFURBISHED, 1 YEAR WARRANTY

35 Armboard gel pad, long, for p	rone p	ositioni	ng, Allen #A-1	0037 or appr	oved equal.
Supplier		UOM	Unit Price	Extended	Supplier Notes / Alternate Description
<b>Electronic Process Solutions</b>	2	EA	No Bid		
STERIS Corporation	2	EA	No Bid		
[ALT1] Medical Inventory	2	EA	\$110.00	\$220.00	Gel Armboard Overlay - 6"W x 26"L x 1/2"T
Control					Constructed with high quality viscoelastic
					polymer gel, providing anti-sheer protection
					and ultimate comfort in patient positioning
Products Unlimited, INc	2	EA	\$212.20	\$424.40	NEW EQUIPMENT
36 Chest Roll Gel Positioner with					
Supplier	•	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
Electronic Process Solutions	2	EA	No Bid		
STERIS Corporation	2	EA	No Bid		
	2	EA	\$268.56		NEW EQUIPMENT
[ALT1] Medical Inventory	2	EA	\$445.00	\$890.00	Flat Bottom Chest Roll, 7" x 20" x 6"
Control	••••••	••••••			
37 Patient Transfer Board, long i	narrow	board.	Δllen #Δ-8300	)5 or approve	ed equal
Supplier		UOM	Unit Price	Extended	-
Electronic Process Solutions	1	EA	No Bid		,
STERIS Corporation	1	EA	No Bid		
[ALT1] Medical Inventory	1	EA	\$260.00	\$260.00	Roller Board, 15 x 67, Assembly w/Cover
Control					, , , , , , , , , , , , , , , , , , , ,
Products Unlimited, INc	1	EA	\$892.13	\$892.13	NEW EQUIPMENT
20 Dationt Transfer Doord short		. 6004	Allon #A 920	01 or opprov	and anual
38 Patient Transfer Board, short Supplier		UOM	Unit Price	Extended	Supplier Notes / Alternate Description
Electronic Process Solutions	1	EA	No Bid	LACCINCU	Supplier Notes / Alternate Description
STERIS Corporation	1	EA	No Bid		
[ALT1] Medical Inventory	1	EA	\$245.00	\$245.00	Roller Board, 15 x 67, Assembly w/Cover
Control	-		Ψ <b>2</b> 13.00	φ <u>2</u> 13.00	Money Bourd, 13 x 07, 7 35cm sty w, cover
Products Unlimited, INc	1	EA	\$614.38		NEW EQUIPMENT
			, -	,	
Basy Armboard with trigger, A	Allen #C	D-ABSL1	or approved	equal, with o	lamshell armboard pad, 3", Allen
Supplier	QTY	UOM	<b>Unit Price</b>	Extended	Supplier Notes / Alternate Description
Electronic Process Solutions	2	EA	No Bid		
STERIS Corporation	2	EA	No Bid		
[ALT1] Medical Inventory	2	EA	\$240.00	\$480.00	Standard Arm Board with 3" Pad
Control			1		
Products Unlimited, INc	2	EA	\$489.95	\$979.90	NEW EQUIPMENT
40 Easy Armboard, lift-to-position	n. Alle	n #O-AF	SSL or approve	ed equal: wit	h clamshell armboard pad 3", Allen
Supplier		UOM	Unit Price	Extended	•
Electronic Process Solutions	2	EA	No Bid		,,
STERIS Corporation	2	EA	No Bid		
- :	_				

[ALT1] Medical Inventory Control	2	EA	\$240.00	\$480.00	Standard Arm Board with 3" Pad
Products Unlimited, INc	2	EA	\$434.40	\$868.80	NEW EQUIPMENT
4 Baula: Tools a much could a small	- All	#O AD	NAT		and red dll Allen O ARAACTVA OF an
1 Multi-Task Armboard, equal tapproved equal, and 1 EasyLo					oard pad 1", Allen O-AMA97X1.05 or
Supplier		UOM		Extended	Supplier Notes / Alternate Description
Electronic Process Solutions	1	EA	No Bid	Extenueu	Supplier Notes / Alternate Description
STERIS Corporation	1	EA	No Bid		
[ALT1] Medical Inventory	1	EA	\$555.00	\$555.00	Multi-Positioning Armboard w/2"
Control	-		ψ333.00	<b>4333.00</b>	PressureManagement Armboard Pad
Products Unlimited, INc	1	EA	\$747.71	\$747.71	NEW EQUIPMENT
·			•		pard pad, Allen #O-AMS122X2.08 or
approved equal, and 1 rail cla	-				
Supplier		UOM	Unit Price	Extended	Supplier Notes / Alternate Description
Electronic Process Solutions	2	EA	No Bid		
STERIS Corporation	2	EA	No Bid		
[ALT1] Medical Inventory	2	EA	\$555.00	\$1,110.00	Surgical Table Foot Extension, 10" W/2"
Control					Thick Pad & Mounting Clamps
Products Unlimited, INc	2	EA	\$1,022.12	\$2,044.24	NEW EQUIPMENT
to be adjustable from 18" to 4	15", All	en O-PF			ick, 5" W x 18" Long (without hooks), Stra
			RSLH or appro	ved equal.	
to be adjustable from 18" to 4  Supplier  Electronic Process Solutions		en O-PF UOM EA			Supplier Notes / Alternate Description
Supplier	QTY	UOM	RSLH or appro Unit Price	ved equal.	
Supplier Electronic Process Solutions	QTY 1	<b>UOM</b> EA	RSLH or appro Unit Price No Bid	ved equal. Extended	Supplier Notes / Alternate Description
Supplier Electronic Process Solutions STERIS Corporation	<b>QTY</b> 1 1	UOM EA EA	RSLH or appro Unit Price No Bid No Bid	ved equal. Extended	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr
Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory	<b>QTY</b> 1 1	UOM EA EA	RSLH or appro Unit Price No Bid No Bid	ved equal. Extended \$135.00	Supplier Notes / Alternate Description
Supplier Electronic Process Solutions STERIS Corporation [ALT1] Medical Inventory Control Products Unlimited, INc	QTY 1 1 1 hooks	UOM EA EA EA	No Bid \$135.00 \$314.41	\$135.00 \$314.41	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc	QTY 1 1 1 hooks 2 or ap	UOM EA EA EA	No Bid \$135.00 \$314.41	\$135.00 \$314.41	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  Security strap, Large (without from 24" to 80", Allen #O-RSX	QTY 1 1 1 hooks 2 or ap	EA EA EA EA EA pproved	No Bid No Bid \$135.00 \$314.41  added center I equal.	\$135.00 \$314.41 section is 1/2	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syn Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  4 Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier	QTY 1 1 1 1 hooks 22 or ap	EA EA EA Oproved	No Bid No Bid \$135.00 \$314.41  added center I equal. Unit Price	\$135.00 \$314.41 section is 1/2	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier Electronic Process Solutions	QTY 1 1 1 hooks 2 or ap QTY 1	EA EA  EA  Opproved UOM EA	No Bid Sid	\$135.00 \$314.41 section is 1/2	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta  Supplier Notes / Alternate Description
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  4 Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier Electronic Process Solutions STERIS Corporation	QTY 1 1 1 1 hooks 2 or ap QTY 1 1	EA EA  EA  Oproved UOM EA EA  EA	No Bid \$135.00 \$314.41  Sadded center l equal.  No Bid No Bid No Bid	\$135.00 \$314.41 section is 1/2	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta  Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  1 Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control	QTY 1 1 1 1 hooks 2 or ap QTY 1 1	EA EA  EA  Opproved UOM EA EA EA EA	RSLH or appro Unit Price No Bid No Bid \$135.00 \$314.41  added center I equal. Unit Price No Bid No Bid \$145.00	\$135.00 \$314.41 section is 1/2	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syn Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta  Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syn
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory	QTY 1 1 1 1 hooks 2 or ap QTY 1 1	EA EA  EA  Opproved UOM EA EA EA EA	RSLH or appro Unit Price No Bid No Bid \$135.00 \$314.41  added center I equal. Unit Price No Bid No Bid \$145.00	\$135.00 \$314.41  section is 1/3  Extended	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syn Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta  Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syn Rubber w/2 Airplane Buckles, Extra Long
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control  Products Unlimited, INc	QTY 1 1 1 1 hooks 22 or ap QTY 1 1 1	EA EA  EA  O, soft poproved UOM EA EA EA  EA	No Bid \$135.00 \$314.41  Sadded center l equal. Unit Price No Bid \$135.00	\$135.00 \$135.00 \$314.41 \$ection is 1/3 Extended \$145.00 \$336.63	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta  Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airplane Buckles, Extra Long 120"  NEW EQUIPMENT
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control  Products Unlimited, INc	QTY 1 1 1 1 hooks 2 or ap QTY 1 1 1 1 ries, Ca	EA EA  EA  O, soft poproved UOM EA EA EA  EA	No Bid \$135.00 \$314.41  Sadded center l equal. Unit Price No Bid \$135.00	\$135.00 \$135.00 \$314.41 \$ection is 1/3 Extended \$145.00 \$336.63	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta  Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airplane Buckles, Extra Long 120"  NEW EQUIPMENT  consisting of the following:
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  4 Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control  Products Unlimited, INc  5 Suction canisters and accessor	QTY 1 1 1 1 hooks 2 or ap QTY 1 1 1 1 ries, Ca	EA	RSLH or appro Unit Price No Bid No Bid \$135.00 \$314.41  added center I equal. Unit Price No Bid No Bid \$145.00  \$336.63  Health or appro	\$135.00 \$135.00 \$314.41 section is 1/3 Extended \$145.00 \$336.63 roved equal,	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta  Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airplane Buckles, Extra Long 120"  NEW EQUIPMENT  consisting of the following:
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  4 Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control  Products Unlimited, INc  5 Suction canisters and accessor Supplier	QTY 1 1 1 hooks 22 or ap QTY 1 1 1 ries, Ca	EA EA O, soft poproved UOM EA EA EA EA UOM	No Bid \$135.00 \$314.41  Sadded center lequal. Unit Price No Bid No Bid \$435.00  \$314.41  Sadded center lequal. Unit Price No Bid No Bid \$145.00  \$336.63  Health or appropriate the price lequal.	\$135.00 \$135.00 \$314.41 section is 1/3 Extended \$145.00 \$336.63 roved equal,	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta  Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airplane Buckles, Extra Long 120"  NEW EQUIPMENT  consisting of the following:
Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control Products Unlimited, INc  4 Security strap, Large (without from 24" to 80", Allen #O-RSX Supplier Electronic Process Solutions STERIS Corporation  [ALT1] Medical Inventory Control  Products Unlimited, INc  5 Suction canisters and accessor Supplier STERIS Corporation	QTY 1 1 1 hooks 2 or ap QTY 1 1 1 ries, Ca QTY 1	EA E	No Bid state of appro Unit Price No Bid state of appro \$314.41  Added center I equal. Unit Price No Bid No Bid \$145.00  \$336.63  Health or appro Unit Price No Bid	\$135.00 \$135.00 \$314.41 section is 1/3 Extended \$145.00 \$336.63 roved equal,	Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airpland Buckles, 96"  NEW EQUIPMENT  2" Thick x 6" Wide x 24" Long and sdjusta  Supplier Notes / Alternate Description  Surgical Table Patient Restraint Strap, Syr Rubber w/2 Airplane Buckles, Extra Long 120"  NEW EQUIPMENT  consisting of the following: